Line and Ellipse	HL035 sample solution
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If the linear equation is solved for x and then substituted, the resulting quadratic is �EMBED Equation.3  \* MERGEFORMAT \s���

 The discriminant of this quadratic is positive so there must be two real roots, and therefore two points of intersection.  If the student solves the quadratic the points will be found as (0,4) and (2.56,2.08).

Alternatively, the problem could be solved by graphing, and the points of intersection determined by approximation.

To find the equation of a line and an ellipse which have no points in common, it is necessary to adjust either of the given equations so that the resulting quadratic has a discriminant which is negative. One way to do this is to change the constant in the equation of the ellipse so that it is a number �EMBED Equation.3  \* MERGEFORMAT \s���3112.
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